STATUTORY EXPECTATIONS

DIVISION

Rapid Recall/Mental Calculations

Non-statutory guidance

Children ... solve
problems, including
doubling, halving and
sharing. [Expected]
They solve practical
problems that involve

Pictures/Objects
& cakes shared between 2

Practical / recorded
using ICT (eg digital
photos/pictures on IWB)

Symbolic
6 cakes shared between 2

There are 8 raisins.
Take half of them.

How many do you have?
Share the 10 grapes
between 2 pecple.

YR sharing into equal 6 cakes put intc groups of 2 :
groups, [Exceeding] mﬁ& ﬁ%m : : :
Solve one-step problems Practicalfrecorded using ICT Pictures/Symbolic Visual (modelled using bead sirings) Recogniseffindiname % asone of Find simple fractions of objects,
ui’;?ri;??:?::n?aeﬁ?s There are 14 people on the How many apples in each bowl if | share 12 apples 15:5=3 0o ® o® mﬁ:;ﬁ:ly?arts of an object, shape numbers and quantities
R irays s th pas. ek o enigerof. letgoh 9 houls Recogniselfindiname % asone of | Count onback in 2s, 5s and 10s
and arrays (with the How many remain on the bus? an| A e )
Y1 stipport of the teacher) .‘... : % four equal parts of an object, shape
There are 20 people in the or quantity.
class. One quarter are boys. . 00000 0 & 10 15
How many boys are there? @ @ Q@ .....
i i ’ i T divicien tactsfor tha 2 Begin to use other multiplication
Siliedi, | Pt Pupils tsea | Yo% . g end s paionng | ReesliBuseduieniecierbe2, | S g
tables and write them Four eggs fitin a box. variety of Find % of 24 2. 0=16 Recogniseffindinamelwrite fractions | "e/ated division facts to perform
using the division and How many boxes,would you need to pack 20 eggs? I uage to 18+3=6 24+4=6 Y% % % of a (length, shape), set written/mental caiculations.
equgls signs. c?er;gcribge 000000 202 2=10 of objects or quantity, ' M;io”k "‘g?’”.mafeﬂ‘?!ffcf”fem
[Show division of two &8 & e 88 &8¢ o /\/\/\/\/\/\ 12:2= 6 Wirite simple fractions eg ¥% of 6=3 | WISre avision relaieio.
Y2 | numbers cannot be done 8 88 £8& 28 division. T T T 1 1 — 000000 AR FEeod dice eqliialence ol hno grouping/sharing quantities.
4 &e 0 @ & 9 12 15 18 dnseen They begin to relate these to
in any order.] 000000 quarters and one half. ! X
Find ¥4 . % %4 ofa . ..... fractions/measures (eg 40 + 2=
% bt : "
hibats i C::)(::)(::)C::)C::) Use commutativity/inverse relations 20, 20745 a half of 40).
mﬁﬂ?ﬁ ﬁﬁ:ﬁ?gﬁg ’ lo develop multiplicative reasoning They connect unit fractions to
eg ¥ of 6P= 3 (eg4x 5=20and 20 =~ 5=4). equal sharing and grouping, to
g sa : numbers and lo measures
: 4= i ivi T i A fi fic by Pupils develop efficient mental
Write/calculate 96 +4=24 -_ exs Multiples of the divisor) 51+3 =17 & 51+3 ?e:a;!:];n;l n:ﬁ; ;i\g:g]nf?;bie sur e methods, using commutativity
statements using the % X 85.+5=17 =17 : 2 : egdx 12x5=dx5x12=
30 (3x10) 17 (29 4 20
tables tha_t they know ’/\ Rtuoici * 12 = 240) and multiplication
v3 | (progressing toformal ¥ 4 - | 10x5=50 . 3|51 and division facts (eg using 3 = 2
- | wiitten methods). g & o 7x5=35 21 (3xT) —66-9=282=6+91
= 0 derive refated facts (30 » 2 = 60,
{divisor is 2/3/4/5/8/10) 60+ 3=50 &20 =60 +3).
i Multples of the divisor | 98+7=14 14 #2738 dwnEEm R R TR0 36 R T nabanto
3
fgf,:’::ewr?’;; ::Jet:od of | 98+7=14 30%7 =210 210 %300 7 4 facts to = mentally, including = by 1. derive facts, for example 200 x 3
Y4 | short division with ! GxT= 42 42 71252 Find effect of dividing UTU by = 800 into 600 + 3 = 200.
exact answers [NS] 10x7= 70 7|9 8 42 (7 x86) 10/ 00, identifying the value of the Refates decimal notation to
TU=U:HTU+U 4x7= 28 0 digits in the answer as division of whole number by 10
. unitsfenths/hundredths. and jater 100.
gﬁ[l}sl?: nDE\':ti;?;et e (estimate: 270 +3 =90) (estimate: 400 =5 = §0) & :orgrncn f'actorps of two numbers. me?mw )e:,na‘ use them to make
remainders appropriately 3468 5o+ T 8 6 r2 1420 Knowl/use vocabulary of prime larger calculations.
for the context) (estimate: 400+ 8= 50) 3J280+1 =320+ 21 3 6 T3 numbers, prime factors and They understand the terms
HTU+U i RS e 8520 composite (non-prime) nos. factor, muftiple/prime,
Y8 - & ) This 5 tfien shertened to: 5 43 2 Establish if a number up to 100 is sguare/cube numbers & use to
ThHTU=U 320 (B=40) i
7 28 9:" prime; recall prime numbers to 19. construct equivalent statements
Consrs befessi it b 24 (Bx3) '332 9% + nos mentally using known facts, [eg 120+15=(30x4) = 15=2x
D ek Divide whole numbers and those | 4= &
e, cvmm Kafg: e T invalving decimals by 10/100/1000.
and ml)
Divide numbers (upto 4 | 43.4+7=62 256:7=32 4368+7=6.24 496 + 11 432+ 15= 288 Porormiantal caloiations; s o D
digits) by TU whole (estimate 42 + 7 = 6) (estimate »3, <4) (estimate: 42+ 7 =6) (estimate 500 + 10 = 50) ‘ Including with mixe increasingly Jarge numbers ar
number using the formal . Z2 88 opergtlonsllarge numbers. . gror? comfpfex cafﬁfa;;o:}s. i
ikl S e il e A 8. FL 1 5[4 3 20 N e calners hocaris.
: NISIonfGn:E‘:rprEt ?:xt X714 iesmalentt-RHESL then tidethesclulion 3 3 a \L’ Use FIch:WIedgue of drder of maintain their flusncy.
a rop. for the comn v 3
Ye U';z w?inen division ] 4)25.8 by 1001 1 1j4 9 6 1.3 2 operations to carry out calculations. | Explore the order of operations
methods in cases where -24.0 (Bx3.0) Use estimation to check answers to using brackets.
the ans has up to 2dp. 16 6.24 Answer: 45-% 124 calculations and determine an Common factors can be related
i -16 (8502 T R 120 appropriate degree of accuracy. to finding equivalent fractions.
{Divide numbers up to ~a : 7)43.68 1 3 0 Identify value of each digit to 3dp
2dp by U/TU whole and + nos by 10/100/1000 (ans to
numbers.] o 3dp)




